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(40 points)

The uniform plate ABCD
has a weight of 3 kN and is
supported by hinges at A
and B and the cable CE, and
is loaded by the force at D
The edge of the l'lEl.Lti.‘ o
which the hinges are
attached lies in the g-x
plang, and the axes of the
hinges are parallel 1o the
line through points A and B
I'he hinges are properly
aligned and thus do nol
exert moment reaetions on
the plate, and the hinge ot B
dogs not exert any force
plong line through points A
and #, that is the reaction
veclor at B 18 perpendicul i
o ling AH

I}eterming the reactions
exerted by the hinges on the
plate, and the tension in the
cable CF

NI, the order by which the
tension in the cable CE, and
the reactions at A and B are
caleulated 18 not important




PROBLEM3; (39 points)

A bridge is being raigeq

Y
l0ads result from (he weight
of the roadway,

Determine the reactions at

the pin-support 4 and the
tension in cable £,

Using  the method — of
sections,  determine  he
forces in membery €D, CF,

and FG of the bridge. . 4 kN

”_;;M\_,_Al ' '_L’ 2 kN

All dimensions are in meters
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